1. The following sample data represent the gasoline mileages (in miles per gallon, mpg) determined for cars in a particular weight class:

	13
	16
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	25
	25
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	30
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	35
	35
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Given : n=50, ∑x= 1560.4  , ∑x2= 50473.64

a) Calculate the mean, median and standard deviation.
b) Using 10 mpg as the lower limit of the first class interval, construct a table summarizing the sample frequency distribution having intervals of width 5 mpg.
c) Plot the above frequency distribution as a histogram.
d) Comment on the shape of the distribution.
e) Use the histogram above to find the mean and standard deviation, based on grouped data.
f) Draw a stem and leaf plot.
g) Find the coefficient of variation and the coefficient of skewness. Comment on them.
h) Find the first and third quartiles and the 95th percentile.
i) Draw the box plot and detect the outliers, if any.



2. 
An inspector wishes to estimate the mean of weight of the contents in a shipment of 16-ounce can of corn. The shipment contains 1000 cans. A sample of 200 cans is selected, and the contents of each are weighed. The sample mean and standard deviation were computed to be  = 15.9 ounces and s = .3 ounce. Construct a 99% confidence interval estimate of the population mean.

3. An electrical firm manufactures light bulbs that have a length of life that is normally distributed with standard deviation of 40 hours. If a sample of 30 bulbs has an average life of 780 hours,  

a) Find a 96% confidence interval for the population mean of all bulbs produced by this firm.  
b) [bookmark: _GoBack]How large a sample is needed if we wish to be 96% confident that our sample mean will be within 10 hours of the true mean?


4. In a random sample of 1000 homes in  Al-Khobar, it is found that 228 are heated by oil. 
a) Find a 99% confidence interval for the proportion of homes in Al-Khobar that are heated by oil. 
b) How large a sample is needed if we wish to be 99% confident that our sample proportion will be within 0.05 of the true proportion of homes in Al-Khobar that are heated by oil?



5. when a batch of certain chemical product is prepared, the amount of a particular impurity in the  batch is a random variable with mean 4.0 g and standard deviation 1.5g. If 50 batches are  independently prepared, what is the probability that the sample average amount of impurity is  between 3.5g and 3.8 g?
image1.wmf
X


oleObject1.bin

